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SIGNAL CONDITIONING

Roll No. :

lsrftro-f,q si6': 30

[Maximum Marks :30

wfr qw atfrqi t qq vfiqvv+ t aiqw t t

All Questions are compulsory and each question is of I mark.

qt?irrqre#dctffiai+ uXffiit at?=fi aqqnalcflat 1

Only English version is valid in case of dffirence in both the languages.

l. f{q ii + +t{ {r fsr{d.**tr+rrfi t z

(ii)

(a)

(c)

(b) t{{
(d) iksrw

Frsr i{ t frt{ rrr sTr<vt opamp trt
srfirf,qrur reT t t
(a) s{fr firatfr sfrqrqr
(b) ipqq frqq3qrcrR
(c) TaT 

qrT{ qf€-q
(d) ftkqa sfu{?Ffu
\lo,'qd qffimrrr or o,d t
(a) qd6iqHEif q64
(b) qd 6) qnr i[ irftFlt
(c) qrd{+d6tffi6rqr
(d) qd{'Sfr*iqlq+cmfir
t{tr{ iI t 6t{ {r {ia'd ffi +i itq 6{i
qrdqftqq mrrqrrortr
(a) ffiq.r qfrqq

(b) zEqffi{Effifriqrr
(c) dfurr qfrqrT

(d) d qrq fi5iu{

Which of the following is not a signal
conditioner ?

(a) Transducer (b) Sensor
(c) Modulator (d) Rectifier

Which of the following is not a ideal
Op-an p charaderistic ?

(a) Infinite input impedance

O) Infinite CMRR
(c) Full power bandwidth
(d) Finite open loop gain

A charge amplifier is used to
(a) convert charge into voltage
(b) convert charge into current
(c) amplifr the charge signal
(d) modulate the charge signal

The following is an example for a
signal level changing circuit ?
(a) Clipping circuit
(b) Time division multiplexing
(c) Clamping circuit
(d) Low pass filter

P.T.O.
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5. Ffi rrn qFmT {, ddq qEr€lr it frlr if t
+t+gt aeqrroat r

(a) Er:Ez (b)

(c) ZrZo:2223 (d)

EI _-'l Zt+23
E,

r-lLt_ z, + z,

6. fiTE ii + +t{ qr fuq qtkdl crqr it sq+rr
fuqr qrer t z

(a) t{ kE
(b) twafl flat{

(c) Sfi&qkE
(d) ffi{kq
kqTrrqr qftqq t r7.

(a)

(b)
(c)

(d)

errr q-qtr
sflH rcrf+.
qrr *fudr6qtr

w fuqrq l$?s{si fi qarcr Eil {FEIT

tr
(a) \'s. Er$ qru qq d qrq fr-€{ 6t

Mxqif +f+,r
(b) \rs Fi qrs qrtt artqrq fiFeu{si

ffimqii+sfi{
(c) r€.ns qq d tns fu€( Et Hqiil{

*,q it +so,{
(d) qi cis\ftrftriurfmersi€qiilr

erq it+s+,,r

(2) 2134

ln the glven circuit; at balance

condition, which of the following is
wrong ?

5.

(a) Er : Ez O) Ir

(c) ZtZt:224 @) 14

zt+ z3

El

zt+23

6. Which of the following bridge is used

to measure capacitance ?

(a) Hay's Bridge
(b) Maxwell's bridge
(c) De Sauty's Bridge
(d) Wheatstone Bridge

7. This circuit is a

(a) Voltage to current converter
(b) A/D converter
(c) Audio amplifier
(d) Current to voltage converter

A band pass filter can be created by
(a) cascading a high pass and a low

pass filter
(b) cascading a low pass and a high

pass filter
(c) connecting a high pass and a

low pass filter in parallel
(d) connecting two band

elimination filters in parallel

8.
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9. f=rr{ it t 6h ri q.S. kq #{ +
qrq{ ii 6rq s{r617s1fi } 2

(a) ffi-ni@{tq
(b) iq tE
(c) \isruc +6 3t+{ tE
(d) Bqr.tnu,+

to. ur{qts+qqr#fuq{
(a) \mqrte*t@*eta qcc SrHI

*mt r

(b) mm{ d{d rrr {ttt{t REFs'r El-fr

tr
(c) i=m ii BqdaEr qt rrqq +i Anm

q+C{deftqrqnrt r

(d) E{ii t sttftT

1l 3'n$dA{H qe ii{r$*tr re+{'it flr
ge nta-rahr t r
(a) $qif2{H rrqt|q' { fir+Yfr {e *fr }

I

(b) {qIhHmi-€ii Fri-dQ!il+m
tr

(c) iiq{tffi Y-cd6ii tsstftr+m tq
rl$t r

(d) sTr++en rq{-nil tr+{ft, FT,liT

aqrqrqreqrt&q-o (gt+
enrdddsttit t

drq-6 qri Et"Bqfrqq mr sq+'r ffii frr
tr
(a) am oqtt
O) fro'fs}€{
(c) rwr@m
(d) sqtn H'ft

sr*rd Sfur + etft rifuorn*rsii or tar
\r{dfu{H flq,€ *sif fl+qr qrar t r
(a) Frd.'Icls
(b) ffifficic
(c) \r{-mrrr qr ffiae +t$ tfr

(d) rt{ t otiTfi

12.

13. 13.

(3) 2134

A.C. bridge used for measurernent of
inductance is/are

(a) Maxwell's Inductance Bridge

(b) Hay's Bridge

(c) Anderson's bridge, Ovren's bridge

(d) All of these

ln time division multiplexing

(a) Time is doubled between bits of
a byte

(b) Time slicing at CPU level takes
place

(c) Total time available in the channel

is dividedbetween several users

(d) none of the above

Main difference between isolation &
instrumentation amplifi er

(a) lnsffumentation amplifier has

an input stage

(b) lnstrumentation amplifier has

an output stage

(c) lnstnrmentation amplifier has

an differential stage

(d) Inpuf output and power supply
stages of an isolation amplifier
are all isolated from each other.

Sample and hold circuits are used in

(a) A/D converter

(b) Peak detection

(c) Pulse modulation

(d) All of the above

Data acquisition of all physical
quantities in the real world is done in

(a) Analog mode

(b) Digital mode

(c) Either analog ordigital mode

(d) None of the above

P.T.O.
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10.
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14. R/2R +c{ DAC EFI EFflt dis oec sfr

Er+r ii wr {cT f'sqt}qt I
(a) Es{dfrqftrqjtliqontid

qrfrt r

(b) sqn {+Ie+ H {sit qc crt€
65q 3TrA t ,

(c) Erlr.Fr IIql?rT q{rdrEqT t6{{r EqRt

srnrFrrrort r

(d) sTrqT*ms-eroTdatt r

ls. FTq ii t st{ {n E{trtq+io.+ {dftrd qET

tt
(a) qFrA'ir qrq qga qs ffifr

ckqrqr
(b) s=E vftrerqr +t +€dr s) frH

qffqrqr +t vrm fuar t qfitefrd
q.ror t r

(c) qq{rq*s'il tq sr{fr tto t r

(d) rnr{ gk{it if dfur qqrq 6i sq
oror t r

16. H'{ii t c-#ffi{+l{erq,r{t,
(a) elflfr Eqtfr{H +i ffis${-{r
(b) on-fu* fir,to qmrq tf tq.d*

SFtrT TGTT I

(c) +go wt {tS (td \rr tdiYm rt
v#scrqcffiq+-cn I

(d) sqttfi q,+

17. qadtsffi enr tzr qr{qi+fla {+il
mdftn *^m Bq?rq 6t-dr t, ownr t
(a) qdfrrq
(b) Hfu'r
(c) qisd'E'I
(d) tcr sinqrqflr

t8. +afrtsffiERr tad{rqm-w{d
gqs*.HffiE'twrqlilrt mnrt
(a) qi*-At"r
(b) tcroffirr
(c) \'dfur
(d) HE'r

2134

The major advantage of the R/2R
ladder DAC as compared to a binarY

weighted DAC is
(a) It only uses two different

resistor valves
(b) It has fewer parts for the same

number of inputs
(c) Its operation is much easisr to

analyse
(d) Virtual ground is eliminated

Which of the following is not
applicable to Buffer arnplifier ?

(a) Unity gain and very high input
impedance

(b) Converts voltage from high
impedance to same voltage with
low impedance

(c) Buffer amplifierhas infinite gain

(d) [t reduces loading effects in
measurement systems

Which is a major functioning
responsibility of a multiplexer ?

(a) Decoding binary inforrnation

O) Generation of minterms in an

O/p function of OR-gate

(c) Generation of a selected path
between multiple sources and a

single destination
(d) All of the above

Process to convert data or
information into a form which is

readily available for processing

(a) Encoding

O) Decoding
(c) Translating
(d) Data organization

Process of convertingdata into a form
that is easilyunderstmd bypeople
(a) Translating
(b) Data organization
(c) Encoding
(d) Decoding

(4)

14.

15.

16.

17.

18.
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te. FTH t t 6t{ qr Effits Afrq + sqdrr {
+tT.ansq-.ntt
(a) qi-ssi{r
(b) 

"vq\nquaflsrry1(c) ql5.{\Itr*s.tq{
(d) fir.€C

20. \r6'Ft qrq t6-ffi*'H f": 3.5 kHz t r

rs*t qr$I-sd.n

(a) AHz
(b) 3.sk}tz
(c) 0 Hzt 3.5klrz
(d) Tk}tz

zr. {rqfrqE cfr {+?ror *S Affi frTw+,tfr
t, m.6f,r+ t
(a) q+rr$
(b) gl6o,qtS
(c) ffi
(d) ++,fsM

22. ffiirm e{rqfu T6fuE t ffi qlE tgit€,
crsds+,r frrccnt r

(a) - 20dB

(c) - 6dB

(b) - 3db

(d) -4odB

fuvn,rtqd?FIEldrt
(a) ffi fc5 q{ r6?Ft irt frfTq{

SltT iF:t{r I

(b) \'Ssid*ii*-qttn€r r

(c) fahq{dtrro}iir-ftafrTq{f,t'Tii
q-qlqtqr r

(d) sqtffi it t 6iiT6T

\rs'+qdT u6sqfrw ii wqqqimre
inrr sftndT tmi {iqtfrr +\'sts #q
Fra{fr st€?r *errqt t& t r
(a) tErd frfirs
(b) Et-€{fr'Ts
(c) Heftrs
(d) qtfrrrflft{rs

23.

24.

(s) 2134

Which of the following cannot be

used for impedance matching?
(a) Transfomter
(b) lnstrumentation amplifier
(c) Buffer arnplifier
(d) Filters

20. In a certain low pass filter f = 3.5

kHz. Its pass band is
(a) 0 Hz (b) 3.5 kHz
(c) 0 Hz to 3.s kr{z (d) 7 kElz

Circuits that shift the DC level of a
signal are _.
(a) Clampers
(b) DC converters

(") Limiters
(d) Peak detectors

Critical frequency is defined as the
point in which the response droPs

from the passband.

(a) -20dB
(c) -6 dB

Linearization means

(a) Finding

(b) -3 dB
(d) -40 dB

the linear
approximation of a function at a
given point.

(b) Converting AC to DC
(c) Converting linear wave into a

non-linear wave
(d) None of the above

24. [n a sample and hold circuit, the
period during which the voltage
across the capacitor is equal to the

input voltage.

(a) Sample period
(b) Hold period
(c) Delay period
(d) Charging period

19.

21.

22.

23.

P.T.O.
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2s. D/A S-q{t {nqrqtr d+ t
(a) Akcftrfu i.{#
(b) qrfifr ds{ieFr+
(c) (a) qr &) Elif ii t +ttq+'
(d) (a) [4 (b) +ititt6ttqtT

26. rqtiq't inEq sHrdqr+ t ryr *at
tz
(a) #Et+qaart r

(b) siAq fu qom t r

(c) 'h{gfug-qtqioqoart t

(d) Fr+{fr qtcqr$Ir oq *tr t t

27. PLCs +1 Et"nr { q@}-tfrff *A t
(a) '{rft \"i cfn
(b) tnfr ('d sq}
(c) E&.qd{€r
(d) E-c#si ck')

zs. zr{q ffirr +r mqr{ k€it +ddq rII ERt

ffir qga vrt +cr {+df 6t rlqr qm t wr
+mmrtt
(a) Nqt1ffi
(b) tt5 *Qfrt 1fie lceu)
(c) Er€Ad-tr{
(d) \I{?il'r6P$a$qf{

2e. {sqrs fiF€{frt {sfus.E d w ers
srrqktit+r*rr*&t t

(a) FA
(b) HfumftT
(c) rl?rfi

(d) irrrtnii++$q€T

30. \'fir*is'if +ts+d6'sT qr qr{ t t
(a) fire{ft qkqrn +} +or+
(b) 'h +i certr
(c) fitrifr {afr dt ti*o or+
(d) 'lrsiffiqwr+

(6) 2:.r,;

25. D/A converters are generallY '
(a) Weighted resistor network

(b) Binary ladder network

(c) Either (a) or (b)

(d) Neither (a) nor (b)

26. The negative feedback in an amplifier

(a) Reduces voltage gain

(b) lncreases voltage gain

(c) Increases the gain bandwidth
product

(d) Reduces inPut imPedance

27. Micro-controllers are than
PLCs.

(a) Bulky and exPensive

O) Bulky and cheaPer

(c) Portable and cheaPer

(d) Portable and exPensive

28. The task of time sharing, in which a
large nrrnber of data signals are sent

through cables or buses is performed by

(a) sernsors or transducers

O) central processing unit (CPU)

(c) multiplexer
(d) Analog to Digital converter

29. The bandwidth of a band pass filter is
the sum of wo cut offfrequencies.

(a) True (b) Not sure

(c) False (d) None of these

30. Feedback in an amplifier always
helps in
(a) Increasing its input impedance

(b) lncreasing its gain

(c) Controlling its output signal

(d) Stabilizes its gain
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CONDITI

@

wq sfl otffi t, P?Y C d ffi qfa n rar dfrd r

Question No. I is cornpulsory, altwer anyfive questions from the remaining.

sA6 sw#pqt q7rl qt frwr W srq 66 fifaq t

Solve all parts of a question consecutively together-

sl6sw EiT+IeCrrrrr dfqq t
Start each question on afresh page.

qtit qr,qrJrl d er<*raii q? ffi C ailq? agrEa\ qm t t

only English version k valid in case of dffirence in both the langunges.

SIGNAL ONING

lsrftffidrsr d$': 70

[Maximum Marks : 70

(iv)

l. (i) vffn {i+d wr t z

What is analog signal ?

(ii) ffis{Hrtcrtz
What is Decoder ?

(iii) si-+q {ata wr dt t r
What are Digital Signal ?

(iv) qtdqrqrgiifrqrtr
What is Lnpedance Matching ?

(v) W+*.{tTdnrrge+ r

Explain linearization.

q++r r{ur& kfirc *t fu€Rfr qqsrti r

Explain Data acquisation system in detail.

(2x5)

(r2)

P.T.O.(7)
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3. hnri ft qftqdt *i futar sq ii $rflqq t

Explain various bridge circuits in detail. (12)

4. (i) frqqrn d,sTufiq t wr erFilH t t
What do you mean by signal conditioning ?

(ii) foqqm ffi{tT +t enq{q-6-ir et sq-gr{i i

Explain necessity of signal conditioning. (6+6)

5. frFFr s{R*. FF€{ *} kRR t nqarti r

Explain different R.C. filters in detail. 02)

6. ffiqi q-*i-ooiqfTdurfrti I

Explain any two instrumentation amptifiers with neat diagram. (12)

7. (i) {fff,/si+tq cR{d$,+i {qETr{+ I

Explain A/D convertor.

(ii) $rq6 gi d6+i qqsr{+ 
1

Explain sample and hold. (6+6)

8. qffifrtuq:
Write short notes :

(i) {gqrs.
Multiplexer

(ii) E,-6,
Encoder (6+6)


